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PATPER -1

Mote : This paper consists of Sixty (80) multiple-choice type of questions, out of which the
candidate would be required to answer any Fifty (50) questions. In the event of
candidate attempting more than Fifty (50) questions, the first Fifty (50) questions
attempted by the Candidate would be evaluated. 500 x2 M = 100 Marks

Read the following passage carefully and answer question numbers 1 to 5.

1 did that thing recently where you have to sign a big card - which is a horror unto itself,
especially as the keeper of the Big Card was leaning over me at the time. Suddenly | was on the
spot, a rabbit in the headlights, torn between doing a fun message or some sort of in- or a
drawing. Instead overwhelmed by the myriad options available to me, I decided to just write :
“Good luck, best, Joel”.

It was then that | realised, to m}hmrj'ﬂ\at Fhadforgotten how to write. My entire ex&t‘e'm:\e
is “tap letters into computef®: T mﬂhﬂdﬂﬂn the notes Fum:l:l.on of my phnne

a third have
never written a letter, a and write
a thank you letter. Mo ve letter paper at

home. Andaqu apthave T ; i ol i ay card. The most

Answer the following questions :

1.  What is the main concern of the author ?
(1) That the teens use computer.
(2) That the teens have forgotten the art of handwriting.
(3) That the teens use social networks for communication.

(4) That the teens use mobile phones.
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2.  When confronted with signing a big card, the author felt like “a rabbit in the headlight”.
What does this phrase mean ?

(1) A state of anxiety (2) A state of pain
(3) A state of confusion (4) A state of pleasure

3. The entire existenice of the author revolves round :
(a) Computer
(b} Mobile phone
(c) Twvpewriter
Identify the correct answer from the codes given below :
(1) (@), (b) and (9) () (k) and (¢) enly
(3) (&) only (4)  (a) and (b) only

4. How many teens, as per the Bic survey, do not own a pen 7
(1) 500 (2) 100 . _{3)_ so00 (4) 560

most creative outlet of pursuit ?

8. Which of the following are the characteristics of a seminar ?
{a) Itis a form of academic instruction.
(b} It involves questioning, discussion and debates.
(c) It involves large groups of individuals.
(d) It needs involvement of skilled persons.
Select the correct answer from the codes given below :
(1) (b), () and (d) @ () (b) and (d)
(3) (b} and {c) {(4) (b} and {d)
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9.  Which of the following are the basic rules of APA style of referencing format ?
{a) [ltalicize titles of shorter works such as journal articles or essays
(b) Invert authors’ names (last name first)
() Iltalicize titles of longer works such as books and journals
(d} Alphabetically index reference list
Select the correct answer from the codes given below :

(1) {c) and (d) {2) () (b). {c) and (d)
(3) (a) and (b) (4) (b}, (c) and {d)
10. Greater the handicap of the students coming to the educational institutions, greater the
demand on the ;
(1) Teacher (2) State (3) Family (4) Society
11.
12

(3)  International Commission on Education Report
(4)  Millennium Development Report

13. Which of the following statements is not true in the context of participatory research ?
(1) It is a collective process of enguiry.
(2)  Its sole purpose is production of knowledge.
(3) It recognizes knowledge as power.
(4) It emphasises on people as experts.
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14. Which one of the following statements is correct in the context of multiple - choice type
questions ?

(1) They are more subjective than short-answer type questions.
(2}  They are more subjective than true-false type questions.

(3) They are more objective than true-false type questions.

(4) They are less objective than essay type questions.

15. What are the characteristics of Continuous and Comprehensive Evaluation ?
(a) It increases the workload on students by taking multiple tests.
(b) It replaces marks with grades.
(c) It evaluates every aspect of the student.
(d) It helps in reducing examination phobia.
Select the correct answer from the codes given below :
(1) (@), (&) and (0 ) (b)) and (&)
(3) () (b), (c) an i and

16. is i i i ects of a particular political party in an urban

17.

(3} fa) (b) and (d) {4) (b} (<) and (d)

18. P and Q are brothers. R and S are sisters. The son of P is brother of 5. () is related to B
as -
(1} Uncle {2) Father {3) Sen (4) Brother

19. Eve:].r type of communication is affected by its :
Mon-regulation (2) Context {3) Reception (4) Transmission
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Maost often, the teacher - student communication is :
(1) Utilitarian (2) Confrontational (3} Spurious (4) Critical

The next term in the series :
B2E, D5H, F12Kk, H27N, 7 ism:
M Q6 (2) 158Q 3 )56l 4) 1620

Consider the argument given below :

‘Pre - employment testing of teachers is quite fair because doctors, architects and engineers
who are now employed had to face such a testing.’

What type of argument it is ?
(1) Psychological (2} Biological {3) Deductive (4)  Analogical

A definition that has 1 bgﬁﬂyﬁgmdhms}mﬁdlsmﬂai
(1) Stipulative 1 (4) Precising

A party was held’ . four sons, their wives and one
son and two daug ales present in
the party is

(1)

In a classroom, a communicator’s trust level is determined by :
(1)  the use of abstract concepts (2) eye contact
(3)  the use of hyperbole (4) the change of voice level

Anil after travelling & km towards East from his house realized that he has travelled in a
wrong direction. He turned and travelled 12 km towards West, turned right and travelled
8 km to reach his office. The straight distance of the office from his house is :

(1) 12 km (2) 10 km (3} 20km (4) 14 km

<o J[URUTRIRIT L z

Haote

:The Information Provided here is aonly for Refer=nce.It may vary the original.



1.

22,

25.

26.

7.

www.rrbrecruitment.co.in

Fonerr 2= HUTm W A E
(1) oS (2) iR (3) FAuTTT= (4) P

= S F AT S = w7
B2E, D5H, F12K, H27N, __ 2
(1) Q62 (2) 1580Q (3) J56l 4) 162Q

f= feu o e T fa=w wifan

‘Fertri w1 T g v faege 3t  wits fafew, aegeEl o stws=s, S o5E we
frga €, =1 T8 Wl =1 wwE S Ty

g R T T 7

(1) v (2) wfew (3) femrmes (4) WETIHETF

T A TH HUTE T ATErE A i e
(1) =@d F99EmH] F 7@ | (2) TmfEER
(3) wFEEEEFTEmA (4) e T F A A

s 3 s A ol i fow # 6 fE AL w1 o T we & 9= 9w weam e i o vew e A
ot # ww amw g s g w1 e 912 R w1 oo R T s e ST
FrETE TES & foru 8 R 1 g0 ™ w10 e W A s w1 w5 g e 27

(1) 12 . ) 10 fEH (3) 20w (4) 14 R

S 1T T R

Mote :The Information Provided here is anly for Refersnce.It may vary the original.



28.

29.

30.

31.

32.

33.

www.rrbrecruitment.co.in

The main objectives of student evaluation of teachers are -

(a) To gather information about student weaknesses.

(b) To make teachers take teaching seriously.

(c) To help teachers adopt innovative methods of teaching.

(d) To identify the areas of further improvement in teacher traits.
Identify the correct answer from the codes gmiven below :

(1) (a), (b) and (c) only (@) (a) only

(3) (a) and (b) only (#)  (b), (c) and (d) only

If the proposition ‘Mo men are honest” is taken to be false which of the following proposition/
propositions can be claimed certainly to be true ?

(1) Some men are not honest {2) Mo honest person is man

(1)  (A) is true but (R) is false.

(2) (A} is false but (R) is true.

(3) Both (A) and {R) are true but (R) does not provide sufficient reason for (A).
(4) Both (A) and (R) are true and (R) provides sufficient reason for (A).

The next term in the series
2, 5,10, 17, 26, 37, ? is :
B2 2y 72 {3) 50 (4) 57

m
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A Cluster of propositions with a structure that exhibits some inference is called -

(1) An explanation (2) A valid argument
(3) An inference (4) An argument

Among the following propositions two are related in such a way that they can both be true
although they cannok both be false, Which are those propositions ? Select the correct code.

Propositions :

(a) Some priests are cunning.
() No priest is cunning.

() All priests are cunning.

(d) Some priests are not cunning,
Codes :

(1}  {a) and (c} : dy ; (4) (o) and (d)

Which of the following is not an input device ?

(1) Joystick (2) Monitor (3) Microphone  (4) Keyboard

Which among the following States has the highest number of seats in the Lok Sabha ?
(1) Tamil Nadu (2) West Bengal (3) Maharashtra ({4) Rajasthan
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